
BDL16x 1 Query OpSw1. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw3. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw5. 

BDL16x 1 Query OpSw5. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw6. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw7. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw9. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw10. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw11. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw12. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw13. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw19. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw25. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw26. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw36. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 



BDL16x 1 Query OpSw37. 

BDL16x 1 Query OpSw37. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw38. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw39. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw42. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw43. 

LONG_ACK: OpSwitch report - opSwitch is 1 (Closed). 

BDL16x 1 Query OpSw44. 

BDL16x 1 Query OpSw44. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 

BDL16x 1 Query OpSw40. 

LONG_ACK: OpSwitch report - opSwitch is 0 (Thrown). 


